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(c)2 —4x

(2)0,1,8

(d) Aislarger than B by 1
(d1

(d) row matrix

(b) 70°

(a) 120°

(b) Parallel to y - axis

10. (c¢)2

11. (c)6cm

12. (@)2:1

13. (b) 160900

23
14. (o) —

L ONU W

15. AxB={(3,2), (3,4), (5,2), (5,4)}
We have A = {set of all first coordinates of elements of A x B}.
Therefore, A = {3,5}
B = {set of all second coordinates of elements of A x B}.
Therefore, B = {2,4}
Thus A ={3,5} and B = {2,4}.

16. Solution:
f(x) = 2x — 1
f((1) —2@A) —1 — 2 —1 — 1
f(2) =232 — 1 =4 — 1 =3
fF (3 —2CE) —1 —6 — 1 = 5
f() =2(&a) — 1 =8 — 1 =7 oo etc
Co—dormain — fF1_ 2. 3. 4_ 59 .- &__}) . _____ >
Range —{1. -3 S_ 7/ -_--——-- - "9 T
It is one — one because distinct elermenits of

first set have distinct images in 2nd set. It
is not onto because the co—domain and the
range are not same.

17. Solution:
For any value neN, 2" is an even number.
For any value meN, 5™ is an odd number.
(end with 5)

n

~ n 1 - sryer S
So the product 2" x 57" ends in “0” (zero)

So there are no values to find n and m.

18. = s 5 — o QAA
R, — =k
e —— e = — s e e o
=T
£
2
L = == _=A
-
= O = i A — A =~
R s —
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21.

Solution : N7 3

\[5- -2 ._AT= —ﬁ Jg —\[3_
o 3

_,_Aa
=3 5, 729
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=3 > <
: A e |
) e a0 o CD)
BE A5 oS =
Bass S S o /:1;— S r)sb

Fryomm (L) & (2) A~ 7= TS

-ATD is mot a bisector of LA
23. (14, 10) and (14, - 6)
—6—-10 _—16
14— 14- 0

The Slope =

The slope is undefined.

24, [———
I|1 4+ sin#

Nﬁ =secf + tanf
—sin

|l+\1119 ,1+sinB

LHS = \' 1—sin®  1+sin®

(l 1&)!

i \' ]ﬂ 7sm 8]

= 3 )
f{\l+sm@ﬂ)“ _1+sin®

= \1 C()Sz 0 cosB
1 sin®©

cosB cosB

= Sec 0 + tan 6 = RHS.

25. Letrbe the radius of the sphere.
Given that, surface area of sphere = 154 m?

4mrz =154
29
4 X —XxXr° =154
t
% 5 1 7
gives r2 N T ¢ — ¢ —
4 22
) ’lg 7
hCnCC, e — T we ge[ = L)

Therefore, diameter is 7 m
26. Letrbe the radius of the hemisphere.

Given that, base area = mr?2 = 1386 sq. m

T.S.A. =3nr? sq.m

=3x1386 =4158

Therefore, T.S.A. of the hemispherical solid is 4158 m?
27. L=125,5=63

Range=L—S=125-63 =62.

L-S 62

Coefficient of Range = ——=—=0.33
L+S 188
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28. R= G armm o 'Y 2em Uyued <2 ey Y
4
- 2 Q '
N orme o} !‘hq‘“ox s | A-n(l_c s = T ( B - >L§ ta v ke
‘ e ?
= '}-—7 K(.Cp)ﬁ fl)J >7¢ 9 D)
= 2
) B
= 22 o [os-WMIXT Ew
= = :
£
= ZZpddbear e
3
e 05
— 2_%_, (el a0
3
= AG2. ST\ w0
- 2
= MBS S N
29. LetA={1,2,3,4,56,7) B={23,5 7 Q= {2}
i) (AnB)xC=(AxC) n(BxC)
I_i_{‘“ (‘."\ M “) X (
I\ I'-‘B: :]3.‘.4. 5,(’.?: (] ;2, :q.j‘:
={2,3,5,7)
AnBxC=1{2 3,57} % {2}
={(2,3) (3. 2) (5, 2) (7, 2)} 0
RHS (AxQ)n(BxC)
AXC=4§1,2,3,4,5,6,7} x {2}
={(1,2)(2,2)(3.2) (4, 2Y(5.2) (6, 2) (7, 2)}
BxC=1{2,3,57} x {2}
={(2,2) (3. 2)(5,2) (7, 2)}
(AXC)nBxC =1{(2,2)(3,2)(52)(7,2) e

LHS=RH.S

30. A={1,2,3,4};B={2,5,8,11,14}; f(x)=3x-1
f(1)=3(1)-1=3-1=2;f(2)=3(2)-1=6-1=5
f(B)=3(3)-1=9-1=8;f(4)=4(3)-1=12-1=11
(i) Arrow diagram
Let us represent the function:A — B by an arrow diagram (Fig.1.19).

(ii) Table form
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The given funW?@gﬂS@éqie'ﬁ%sented in a tabular form é(!‘%WrJH Befswpsc.com

N > B s

&) 2 5 E 11

(iii) Set of ordered pairs

The function f can be represented as a set of ordered pairs as
f=1{(1,2),(2,5),(3,8),(4,11)}

(iv) Graphical form

In the adjacent xy -plane the points

(1,2), (2,5), (3,8), (4,11) are plotted (Fig.1.20).

A Y

11 (4,11)

10

9

g (3, 8)

o

6+

s+

4+

1t

1

L+

X' -l IR, i R IR, 55D

vY
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31.
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32. | www.Padasalai.Net | = Trb Tnpsc.cor \
l ?*w 0 ‘.'\_ R .
gamsa.-a.;: a2 —G0 S %V\w&’s (2] ‘t‘*

T annizz mih & S%*:ad ram = 13
" - ; Y U] ) - e '
@xz = 13 -wsf—\-ﬂ W R = 3( als ) rae s
@ s "t mx »H-.r: Ak > ‘5- . e,

33 f(x) = x*+3x*-x-3
glx) = ?+xP-8x¢3
X+2
Crx-5x+3 | *+3x*+0x3-%=3 i
x4 xP - 5 4 3x &) =
: B+2x-3 | L+x*-5x+3
#*?2‘2‘41“3 o+ -3x (-)
2+ 27 -10x+6  (-)
-x"-2x+3
x4 6x-9 e ()
=3(x*+2x-3)=0 0

GCD =x?% + 2x - 3.
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34.

35.

P = wwa alai. Net
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LHS (4B)
2 -1
|
AB = x{—1 4
R |
x |0 2
32
2-240 -1+8+2| |0
44140 —2-442] |5
: T :
. (09 0 5
(AB) =|_ =|
)y —4 9 —4

From (1) and (jZ},(AB)I= BTAL.

Hence proved.

Angle Bisector Theorem
Statement

36.

RHS (B A Ww.Trb Tnpsc.com

1. 2
2 =10 7
B" = AT =12 -1
-1 4 2
| = |
Ji| 52
grar_ |2 10 L
y, = X|Z —
-1 4 2
x3 |1 1”
2—-2+0 44140
TS Qb
B"A" = Y ® . (2)
9 —4

The internal bisector of an angle of a triangle divides the opposite side internally in the ratio of

the corresponding sides containing the angle.

Proof

Given : In AABC, AD is the internal bisector

AB BD
To prove : —=—
AC CD

Construction : Draw a line through C parallel to AB. Extend AD to meet line through C at E

[_No__| Statement

1.

ZAFEC = Z/BAE — -1 Two parallel lines cut by a transversal make alternate

angles equal.

A ACE is isosceles

2. AC — CE ... (1) In AACE,ZCAE = LCEA
AABD ~ AECD
23 AB  BD By AA Similarity
oF gD
AB BD From (1) AC =CF.
AC cCD

Hence proved.
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Given vetices are (-4, -2), (-3, k), (3, -2)
and (2, 3). Given area 28 sq. units.

s e ore o g

1
5 {(-4k+6+9-4) - (6+3k—4-12)} = 28
(—-4k+11) - Bk —10) = 28 x 2
—4k+11-3k+10 = 56
-7k +21 = 56
-7k = 56-21
I e 2
—7
k=-5
38. Solution:
F =10 =
5 Zo5
30°
=
h h
3 S&0°
tan = %
tan38° = oo — &
0.7813 =— SO0— 7/
55
> S0 — /& =
R e T, e O
tansa0<e = SO
x
I = SO
x f’[g == sl e =)
From (1) & (2)
0 — 72 -
T = 203
&0 — h = 220(1.732) =< 0.7813
60 — h = 27 .06
igY = 60 — 27.06 = 32.94
j o = 32.94
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39.

40.
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Given:
h, = 9cm, . == 10 cm
h2 = dcimn, r, = 5 cm
Volume of Cylinders
NN -.rcr12h+ 11:r22h
= (1O0x<10x<x9+5x5><4)
= 7(200><100)

= 10007 cm?
Height of the water level is h, cm
rer®h, = 710007
7tx10><10><h,; = 1000w
10007

by O

Raise of the water in glass
s clar 10—-9 = 1lcm

e e s i il o S N ). A "
b AN _t
M = 9.2 ® ¢
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L w o dice are rolled

sample sapce S — {(1, 1) (L, 2) (.3
(A4 (1,5 (1. 6)

2 0):C- (=D
(2. 1) (2. 5) (2. &)
G (B2 B, 3D CE- D B5:-5 -5
(4 1) (& 2 (A& 3H) (8. D (& 5 (a4, o)
G 1) (5. 2) (5. 3) (S5, 4 (5. 5) (5. 6)
(6. 1) (6. 2) (6. 3) (6. 4) (6. 5) (6. 6)}

n (S) — 36
(2) Let A be the event of gettinngs a
doublet

A ={(. 1) (2. 2) 5, 3) (£ ) (5. 5) (6. 6)3
n (A) — 6
n(A) =5 1

P{A) =

n(S) 36 =

(i) T.et B be the event of getting a
Product is a pritne murmber

B = {(1.2) (1. 3) (1. 5) 2. 1) EG+1) S, 1)}

j onaGB), o6 . -
P = ) S ©

(iii) IL.et C be thhe event Sf settings a
s is prirme nummber.
Cc={@. 1) @ T & 4 (1. S
G- )y (5 . B 2
(S, d) (E gl A2 S5) (&5 =
(5. 6) (6. 1) (6. 5);}

=5 B

et DD be thhe event of getting
a sum is 1.

)
o~
0

Vv

I

~ . D is an impossible event IO

- P ) — 0
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42. P ngfggasalf"‘l\lgt 4.5 - AL = - Www.Trb Tnpsc.com
‘ | (m2.3.> = WL =82

™LA paint 4t A - (@.2> g
(’:.4-30’- M. s B (e
‘— _.

E2Y /o =
N V@ -
PO, &",;p U e B
xXa 320 = =
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43. (a) Solution - P

Construction :
17 Draw a AABC

2. Draw aray BX

3. Locate 6 points B;, B,, B;, B, B; and B,
on BX

4. Join B;C and draw a line passing
through By parallel to B;C intersect at
C.

5. Draw a line through parallel AC

intersect the extended line segment AB
at A’.
Then AA’BC is the required triangle.

(or)
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Rough diagram

Construction :

1. With centre at O, draw a circle of radius 5 cm

2. Draw aline OP = PO cm

3. Draw a perpendicular bisector of OP. Which cuts OP at M.
4

~ With M as centre and MO as radius, draw a circle which cuts previous circle at A
and B.

Join AP and BP. These are the required tangents. The length of the tangents
PA =PB=8.7cm.

44. (a) Step1

§J1

Prepare the table of values for the equation y = x2 - 8x + 16

~J]

oo

B -1 0 1 2 AN\ 5 &
=2

25 | 16: | 9 B 1 0 1 4 9 16

Step 2

Plot the points for the above ordered pairs (x, y) on the graph using suitable scale.
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A Y
Scale
x-axis : | cm= 1 unit

y-axis : | cm=2 units

X
K1

Step 3

Draw the parabola and mark the coordinates of the parabola which intersect with

the X axis.

Step 4

The roots of the equation are the x coordinates of the intersecting points of the parabola
with the X axis (4,0) which is 4.

Since there is only one point of intersection with X axis, the quadratic

equation x2 - 8x + 16 = 0 has real and equal roots.

(or)
(b)  Solution y=x+1
y=2x*=3%x~5 e I N (T >
x |-4|-3(-2|-1{0| 1|23 ]4] y -1 1 3
vi139(2l9lo]-5]-6|-3|4[15]|The straight line y = x + 1 intersects

the x axis at 2 different points

Now y= 2x2-3x -5 £, _ Sieha
ere fore, the solution for

0= 22 A6 (=) ['here fore, the solution fo

S RSP Tt n

y=x+1 2x*-4x-6=0is-1and 3
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asmaggiiL
X oo 1 o = 1 s
Y 35 1 G = 2 oog

—12 -
By A
=16+

-18+

-+

(1-6)

- E.VIKRAM (M.Sc., B.Ed(Mathematics))

Now [ am Working in Sri Rajalakshmi Tuition Centre.,

Arni -632301., Tiruvannamalai district.
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